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3 A & IRAR
1) Y&l U SR
37 faRrdr TeT ST =TT S WTH STar  IRERGET ATST A+ UTH Bl 3.
@) TORIT TT=ar a1 9aRT 1969 e Uleedial STUhasicar AdT HaTel.
@) UdIE g US 9T IRARAT HehdlaR AURGS e,

Iy faaE/A stresET.
(1) ®ch A 9 Q HH ATT
G)FHHFTT (4) SIS FF

Consider the following statements.

(a) The Leader of Opposition holds the status of a Minister and receives a salary from the
Government.

(b) The post of Leader of Opposition was first officially recognized in 1969.

(c) Whip post is based on indication of parliamentary government.

Identify the correct statement/s.

(1) a and c only (2) a and b only

(3) c and b only (4) All of the above

2)  TdE ANAed 994 @Tol Kool MU R @1 anfor ang A Maer

(37 e IfRETEITeT AERITEETET Ry gudr SRar.
(@) IS ST IR o ATaTaAT HEET 99 3T,

T 39Y
(1)%h 3T Tg (2) Bh § TG
(3) ST T T F AT (4) SET T T T AT AR

Consider the statements given below regarding Parliament Secretariat and select the correct
statement/s.

(a) The Secretary General of the Parliament Secretariat is appointed by the President.

(b) Both Houses of Parliament have separate secretarial staff.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct
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3)  Wole ool UM FeRIa @ snfor ang faas/A et
(37) SFFCIIAR S¥ad diF {17 3Ted.
@) ITAAT IHTAT SShicT IURIT e el
T I
(1) h 31 I (2) F°h & INT
(3) <l A (4) ST g

Consider the statements given below and select the correct statement/s.

(a) Parliament has three parts as per the constitution.

(b) The President does not attend the sittings of the Parliament.
Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both incorrect

4) WOl ool faum R =1 enfor ang fqurA e
(37) AHIAHT TSTaRT G HRUGTATSET B9 HISUITATS! 14 TQaAr=l TERg=T ATl SITd.

@) FATAET AR hiade GTAT SEET Tl T STehlT TeTeaT A ardn

ST RSeT e

g IR
(1) %th 3 A (2) % T A
(3) SEr A T T g (4) LT A T F I e

Consider the statements given below and select the correct statement/s.

(a) 14 days prior notice is required to move the resolution to remove the Chairman from
office.

(b) The seniority of the Chairman is equal to that of a Cabinet Minister provided he has
resigned from the membership of a political party.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



5 IR & UIRAR
5) MY R1ar AT wele Ree ou e =1 snfor ang a4 Faer
(37) HhIYdIS ATTLTEATET RN IS HLUATATS! [FFATT HIOTHTET 31T AT,
@) ATTIRATAT BT WA hedHaX ol FogTgdT AR S&T [SavT HRETE Hrar ST,
(@) ATTYRT 3T Feh SIHTAT HigdT Idl.

T 3N
) FHATH () Bth ¥ T T
G FHFITT (4) TFURT T

Consider the statements given below about no-confidence motion and select the correct
statement/s.

(a) There are no conditions in the rules for filing a motion of no confidence in the Lok
Sabha.

(b) After the motion of no confidence is filed, it has to be acted upon for ten days before
taking leave.

(c) No confidence motion can be moved only in Lok Sabha.

Alternative Answers:

(1) a and c only (2) a and b only

(3) c and b only (4) All of the above

6) WS Kool [Fu™ AR @ T s/rg am/A Faern
(37) GATEIHTE dd- ARATeAT dtad MU e 1.
@) AR I AT 9T BIATH TG HAld.
(@) ITSTTHT YATITSTRIAT AT TR 3hd ATl

T 39Y
H®th AT Q HHhITTH
(3) Fh AT H (4) TAHURT Tehgl -TTer

Consider the statements given below and select the incorrect statement/s.

(a) The salary of the Prime Minister is paid from the Consolidated Fund of India.
(b) Additional grants are submitted directly to the Lok Sabha for approval.

(c) The Rajya Sabha cannot reject the Money Bill

Alternative Answers:

(1) a and b only (2) b and ¢ only

(3) a and c only (4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



6 IR e URAR
7))  WoS Koo e fReRa =@ it @y fumA Maer
(3 WRESE o [Td9gs &k Sieadd gigdr Idard.
@ fod fodaes s urefauargdl sterst wIfoT ot SR ST,
qgTET I
(1) %<h 37 INT (2) Bh § TG
(3) qel T T 9 JnY 4) IET T T T AT e

Consider the statements given below and select the correct statement/s.

(a) Money Bills relating to taxation can be introduced only in the Lok Sabha.

(b) The Money Bill must be certified by the Speaker of the Lok Sabha before it is sent to
the Rajya Sabha.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

8) Ueio faum femamra = anfor o fum/A e,
(37) Siwfafdt HFeT 1951 TAR HIVTATRT FURTIES I fohar sifes aui=r e sncsar
hl S e U MagT JvIRATa! ST 37T,
@) THAAR AT HROTATARTE A DROMEGE A ASHTAT U SGuITdT SATIRR

ATIAAT 3TE.

T IR
(1) Th 37 I (2) F<h ¥ TRT
(3) IRl AT I I (4) LT T T I TR

Consider the following statements and choose the correct statement/s.

(a) A person convicted of any offense under the Representation of the People Act, 1951
shall be ineligible for election as a Member of Parliament. (having sentensed for 2 or more
than 2 years)

(b) The President has the power to disqualify a Member of Parliament on grounds other
than defection.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



7 T W) UIRAR
9) WSS [SU S & ST IRy fu/A e
(37) BIhAHAT TG e FATG 10 TG 3T,
() BIHTAT 3TeTeT fhaT IuTee SURYIT SRIART eldiey U TG THI[EMET 3TeAsT

U T T,

g 3T

(1) Th 3T I (2) ®h ¥ TRT

(3) TR T T T AT (4) T=LT T T T I AR

Note the following statements and select the correct statement/s.

(a) The Group of Speakers of the Lok Sabha consists of a maximum of 10 members.

(b) In the absence of the Speaker or the Deputy Speaker of the Lok Sabha, the senior
member of the group acts as Speaker of the House.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

10) WA (U S & o I a4 Haer
(37) BIHTHT AT FSTT AT AT FRUATH TS FASSAT ISTISA I I
ST B,
@) BIRAIT BT FETT AT THMGIRIT FROAT AAG 106 AT TSHGHAT HIAAT Hlg

STHRIITT 3T 3TE.

T 39N
(1) h 3T I (2) ®h ¥ TRT
(3) ST T T T I (4) ST T T T Irg TET

Note the following statements and select the correct statement/s.

(a) Provision for nominating an Anglo-Indian member to the Lok Sabha was taken from the
Constitution of Ireland.

(b) The provision of nominating Anglo-Indian members to the Lok Sabha was removed by
the 106th Amendment Act.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

11) TSI U= Serd =1 o I [/~ Faer.
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8 TR WSS TRAR
(3) 84 IT GeaTgHe ATAFTT 2001 T BHTAHdG JAPTHT AT - IS TTHFTOR
STTOT AT 1A AARIETd 9 eToft 1971 =7 SR 2000 FIET HR0ard ST
@) IS ATGRIAATAT GAEAT HRUGTHT Togiel A¥IG 3.

EEIRIIESEE
(1) 7 I, § 3T (2) 3 AN, T I
(3) aI=r A (4) ST AT

Note the following statements and select the correct statement/s.

(a) Under the 84th Constitutional Amendment Act of 2001, the state-to-state division of
Lok Sabha seats and the division of the state into regional constituencies were fixed at 2000
as per the 1971 population.

(b) Parliament determines the method of reconstitution of constituencies in the State.
Alternative Answers:

(1) a correct, b incorrect (2) a incorrect, b correct

(3) Both correct (4) Both incorrect

12) WOl [um Sefa = nfor I a4 Haer.
(37) T AART T FORTST TLIMRT Iqaqd fohedT dfafrdia foes 315 o1R, § 9eqd g

3Ta.
@) AT T IS TS AP F9 =i e,

I 3N
(1) &eh 37 I (2) th T A
(3) T 3T I T T (4) TET T T T ARG AR

Note the following statements and select the correct statement/s.

(a) How much representation is given to each state and union territory in the Rajya Sabha,
is mentioned in the constitution.

(b) Odisha and Rajasthan have equal representation in Rajya Sabha seats.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct
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13) SHIHAHAT FLTEET WIAHTGURl HIoTd [T/ T TR ?
() SIHIIAT HTAT ARATH! ISTYGSHT, FhAIAT HIHBSITHT WohdT N7 FHT
YRURT AT A1 AATehg TURR F B WTH BT,

() AIhHHT ERISG SATATAR AThTHT TG U[a=A X &ldl.

qIET 3N
(1) th 37 ) 3ranfor ¥
(3) ®th & (4) YR FT

Which of the following statement/s is/are correct about the Speaker of the Lok Sabha?

(a) The Speaker of the Lok Sabha derives his powers and functions from three sources
namely the Constitution of India, the procedure of the Lok Sabha and parliamentary
tradition.

(b) The Speaker of the Lok Sabha shall be removed from office when the Lok Sabha is
dissolved.

Alternative Answers:

(1) Only a (2) a and b

(3) Only b (4) All of the above

14) gere foae Maer.
(37) ITSTTHAT IUTHET & AT EraT A .
@) SRTFIATAT BSTUATET TATI AT J5T IURTEUAT UTEedT ST A el s 3Tehd el
(@) A ss & AT STaTEeR 3T,
(©) ST AT THTHET ST IoaR AT A=l JISATHAIS THPIETET =l AHF[Er]
AT ST,

T 39X
1A« 2) 9, %
(3) B © 4) 3, S

Choose the incorrect statement.

(a) The Deputy Speaker of the Rajya Sabha is a member of that House.

(b) The Vice-President may not vote in the first instance on a motion to remove the Vice-
President.

(c) The Cabinet is responsible to the Parliament.

(d) When the Speaker of the Rajya Sabha is on long leave, the Leader of the House in the
Rajya Sabha shall appoint the Speaker of the House

Alternative Answers:

(1) a, b (2) b, c

(3) Only d 4) a, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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15) HiEHse ATETGATAT HedTd ol dd! HioTd U JT 3Med ?
(3N T TAVITETAT W JaTeaT ARTEsFTETST S Hid.

@) 1947 T AT IATIAT HROGTd ST,
(@) HeHSes AETRT WTh TSl 38,

Tt 3R
(1) T 3nfoT & (2)  TOT &
(3) & JATioT 3 4) 99 F

Which of the following statements regarding Cabinet Secretariat is true?

(a) It works under the direction of the Principal Secretary to the Prime Minister.
(b) It was established in 1947.

(c) Cabinet Secretariat is a staff agency.

Alternative answers

(1) aand b (2) b and ¢

(3) cand a (4) All of the above

16) ST I WHTESHT Wole [ue =R =m.
(37 dF AHTHST I AT AR e FIw w3l
@) ITGEAT AT ART TG 4T B, 3T S1T ISl STSTEITAT HATaR T HIHHTST
TegdldR I=T T SIehT hedl Id ATal.
@) I[EE DD ATAHAUITAT Alshdd HIAT FRoad ATURR RIUTATEN AT
AIFR &= AT TR
(®) AT FAIFRI &SR AT FAGH FROMAT H <Al ngdl% URT ST SUAIER
TSR G T A,

T 3N
(1) A, , F R
(3) 37 3OT § (4) THUhT I

Consider the following statements regarding the position of the Speaker of the Lok Sabha.
(a) He appoints the Chairman of all Parliamentary Committees of the Lok Sabha.

(b) The work and working methods of the Speaker cannot be discussed and criticized except
for the resolution that a new discussion will be held if the sub-suggestion is approved.

(c) No Court has jurisdiction to regulate the proceedings of the House.

(d) He Can be removed from office by a resolution passed by a majority of the members
present and voting in that House

Alternative Answers:

(1) a, b, (2) b, c, d

(3)aand b (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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17) WSS U Seld =T for 997 [y~ Faer.

(37) FHTT AT SAAMT STONETOH=aT SISO qrgdT ARG SIS AR &
TSTTHE! BIHTHAR IRAVTRT ATIHTET TRAI e .
@) TSI AAGAAG [TTITER FRS FR0GTET ATTHR BHAHAT 33 3Mehl.
g 3
(1) %<h 37 IT (2) Bh § I°T
(3) Tl I I T 79 (4) T T T F I0g TR

Note the following statements and select the correct statement/s.

(a) The power of the Rajya Sabha to reject the declaration of emergency when the Lok
Sabha is dissolved implies the overriding power of the Rajya Sabha over the Lok Sabha.
(b) The Rajya Sabha may delegate to the Lok Sabha the power to make laws on subjects in
the Rajya List.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

18) WISIGUD! AHaT RIThR= Jd o 3Med?

(37) "eAdie a3dal @) IFT TATSS HAS
() HAST Hehel @) =H AT

T I

(1) 3, 9, & 2)d, %, ©

(3) A, 9,8 (4) TFURT T

Which of the following are sources of parliamentary privilege?

(a) Provisions in the Constitution (b) Laws made by Parliament
(c) Parliamentary Signals. (d) Judicial implications

Alternative Answers:
(1) a, b, c (2) b, ¢, d
(3) a, b, d (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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19) TSI [ARE TS Maev[E BelduIRT SHEAR T AR ISaTdis AdaR STATaT &
TS ST HIEET 1951 T TG I YT HIgT STHUETT oT?
(1) 2001 (2) 2003
(3) 2006 (4) 2004
When was the condition removed which is present in the Representation of Parliament Act
1951 that a candidate contesting a Rajya Sabha election from a particular state should be
a voter of that particular state
(1) 2001 (2) 2003
(3) 2006 (4) 2004

20) WISIGUDT BT AFIATAT HiH U TRT F ATRI?

(3N FelT AT SENT @) € TSI =TT
T 3R

()3, 9, h, S 2) 3, 9,8

(3) A, 9, % 4) 3, h, S

Who among the following does not hold office during pleasure of President?
(a) Central Public Service Commission (b) Judges of High Courts
(c) Auditor General (d) Attorney General
Alternative answer:

(1) a, b, c, d (2) a, b, d

(3) a, b, 4) a, c, d

21)  WRAT JISTEISTAT 10 T AFLAT JTd AGATAT I Al oo Qoo SR =
anfor =g faam/A Raer.
(37) IR 10 AU dRJal TS SIS THATHT HIH TASwIT=T TSR 3TE.
@) & 9 I AUF[ETIR 45 [Sa<r=AT 31d 3a1d BRI,

T 3T
(1) Wb 3 A (2) % & T
(3) SR T T F AT (4) LT T T T AT AR

Consider the following statements and select the correct statement/s regarding disqualification
of a member under the 10th Schedule of the Constitution of India.

(a) The Speaker is empowered to make rules to carry out the provisions of Schedule 10.
(b) All these rules have to be laid before the House within 45 days.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both A and B are not correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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22) ETOG Roe! [y o= & anfor g a4 Faer.
(37) TS HT FHTIAT 3T YSTET ST ST T ITAHAIAT FHT AT HdTd.

(@) TSI ITTATIAT BT AHTIATIETT SHH ATIRRT AL,

IO IR
(1) Th 37 I (2) ®h ¥ TRT
(3) SFEr A T T Ig 4) SET F T F Ig TET

Consider the following and select the correct statement/s.

(a) The Chairman of the Rajya Sabha submits his resignation to the Deputy Chairman of
the Rajya Sabha.

(b) The Deputy Chairman of the Rajya Sabha is an officer subordinate to the Chairman.
Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

23) WIS TH! HIoTd U T 3Ted ?
(37) YRAT HHe ATTHT T8l
@) TR YOS IRER SHeAT ATTHHCEER FITeT 9.
(@) AT FHEST FROGMET ATYHRR 0T TeT TR Hogr=r AfIaR fhar a5
FHROITHT ATIDHR AT HITATAT TEDMTIT Heh AL,

T IO
(1) 3 3o & 2) T 30T &
(3) & IOT @) TG T

Which of the following statements are true?

(a) Indian Parliament is not sovereign.

(b) Federal system of government limits the sovereignty of Parliament.

(c) There is a difference in law between the power of Parliament to legislate and the power
to make or amend the Constitution.

Alternative answers

(1) aand b (2) b and ¢

(3) c and a (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24)  WTHTHUSRT HIVTT HT FESHT ATURR AT IdTa?
(37 TATATS! fumafRee=t Ao R
@) FORST SATET T4 A H0T
(@) SHTAT [SHRATATS IS GIROT 0T

(@) FATE AATHAT AUHRR &7 Ierao]

T 39N
1) A, 9, s, S 2) A, 49,8
(3) 3, d, n 4) 9, %, S

Which of the following functions fall under the jurisdiction of Parliament?
(a) To constitute a Legislative Council for the State.

(b) Making new laws for the Union Territory

(c) Formulating a national strategy for the development of the country

(d) Extending the Jurisdiction of the Supreme Court

Alternative answer:

(1) a, b, c, d (2) a, b, d

(3) a, b, 4) b, c,d

25) oS [Roe! [y e & anfer g a4 Faer.
(3) ITSTYSHAT 9T VI 9916 Shed 79 o 122 F9eHl, 99T, SacdT hIaTadl, ATeemr
i a2
@) TREidr SRR THRUNdie Tare <AaTSITeT Maai R, sTeiuerr oy, dae=r
TREMET TUSRI ARTGAN JRITSGRATAT TH 3R,

T 39
(1) &h o a5 ) & F I
(3) I A T F @) S8 F T F T AR

Consider the following and select the correct statement/s.

(a) Sections 79 to 122 of Part VI of the Constitution deal with organization, composition,
tenure of Parliament, officers

(b) According to the decision of the Supreme Court in the Kihoto Holohan case, the decision
of the Speaker, an officer of the House of Parliament, is subject to judicial review.
Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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26) WG Kool [y femmra & anfor =g a4 Faer.

(37) APIAER HEIMTHANT ATHTUIRATS! ATl HI<h IS STl ST
@) JISTTHAT HREFIS el IUET 8 3 ge-d g e,

T 3N
(1) Th 31 I (2) ®h ¥ TRT
(3) S 8T A T F T (4) ST 3 F F T AR

Consider the statements given below and select the correct statement/s.
(a) A joint sitting of Parliament is convened to impeach the President.

(b) The constitution states that the tenure of the Rajya Sabha is six years.
Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

27)  WTSIHUST RVl YRATT FdS Vo 92T ATaid ?

(31) Thel ST @) ATTSRRTE THATHI]
() ATEH STATEERT T () AT ARER IO
T I

(1) ®h 3T, & (2) ®h 3, §

(3) ®7h 9, s 4) %th A, 9, h, §

Which of the following is not a feature of the Indian parliamentary system?

(a) Single Membership (b) Consolidation of Authority

(c) Absence of collective responsibility (d) Having an alternative government
Alternative Answers:

(1) Only a, c (2) a, b only

(3) b, d only (4) a, b, ¢, d only

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28) WIS ol UM FeRT = oy oy fFamA e
(37) TSTAHAT IUAHTIAT ISTTHAT A AN es dl ASAAHT Al THHI SR
3T,

() ISTFAT FHIA T ITAHIA T Reh FAAHT IUNHETEAT IS FE IgT B

I UTEdT.

EEIRIIEGESE

(1) Th 37 I (2) ®h ¥ TRT

(3) T8I T T T IR (4) 8T T T F IR AR

Consider the statements given below and select the correct statement/s.

(a) The Deputy Chairman of the Rajya Sabha being a member of the Rajya Sabha is directly
responsible to the Rajya Sabha.

(b) A member of the group of Deputy Chairman acts as Speaker when the post of Chairman
and Deputy Chairman of the Rajya Sabha are vacant.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are not correct

29) Wone AU A= = .
(37) SR AN TH RIS I SANTER FagT Sel a7 SRbM AUl T ST Haerd
AT AT g ST gfger SR Rk 2l
@) Mg Tl gfasy M (1950) TR TH Jobl sl Tedd IRITGTER. JATE
FRUITA 3T 3R,

T 39
(1) Heh 37 SR 318 (2) Bth ¥ SRIET 38
(3) SeT SR 3MTed (4) TET ThIT 3R

Consider the following statements.

(a) If a person is elected to two seats in a House, that person shall choose one of them
otherwise the first seat he was elected shall become vacant.

(b) Concurrent dual membership is prohibited under the Prohibition Rules (1950) made by
the President.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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30) Wole AU arRd =T,

(37) TS AT ASAAHA ITSIIodTd JOTAT Y=l H&AT & STAAA 3.
@RTTHD ST U IUFET EOGATST JISAAHAT JHTIA T ATeAT 3ad: 8T =T IrsaTd
AAeR I T3TH el

EEIRIIELESE
(1) Teh 37 S_IER 38 (2) 7h ¥ SRS 8
(3) ST ISR e (4) ST <RI 3Ted

Consider the following statements.

(a) The number of representatives sent to the Rajya Sabha from each state is unequal.

(b) The Chairman of the Rajya Sabha need not be an elector in his own State to be counted
as a member of the Rajya Sabha.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both are incorrect

31) WO U HeERT =,
(37) TSI T&AHT g IR siavld Udle FMghier e Iuard 31 31e.
@) TdIE & HheddT HRAM [STe3T T TTe! g ddol 3%,
(@) Tarar [T FET TET=T He ASHT FUTHRE A

T 39N
(1) Fth ¥ T ¥ SR A8 (2) Bth § T & S=I€% 3R
(3) Teh T 9 & SR 3T (4) TSTR T TR

Consider the following statements.

(a) Political parties are empowered to appoint whip representatives under the Tenth Schedule.
(b) India has borrowed the concept of whip from the British parliamentary system.

(c) Instructions given by whip are binding on all members of the party.

Alternative Answers:

(1) Only a and b are correct (2) Only b and ¢ are correct

(3) Only a and c are correct (4) All of the above are correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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32) Wiols U fo=amrg = snfor Iy S/~ e,
(1) ITFeAd TG TAATTAR BIHAHT SO ISTTHT & AT I&hRoATd e M.
(2) ISTISHAIG HAHH 81(2) TIAR SIATHAIG HAGUH Tegd ML HRIATd 3ol 3R,
(3) FIET faur TR e
(4) T four ghr=r smed

Consider the following statements and identify the correct statement/s.

(1) The names Lok Sabha and Rajya Sabha have been adopted as mentioned in the
Constitution.

(2) The method of election to the Rajya Sabha has been determined as per Article 81(2) of
the Constitution.

(3) Both statements are correct

(4) Both statements are false

33) WU HIVTAT AT SR STl 0T ST STHTAT 10T BIheTd SRR ST
ATEr?

(37) T @ R

@) Ttz () NS
qIET 3

(1) %th A, h, (2) %th §, 9, h
(3) h ¥, T, 3T (4) A, 9, H, T

Which of the following states does not have reserved seats in the Lok Sabha for Scheduled
Castes and Scheduled Tribes?

(a) Goa (b) Sikkim

(c) Mizoram (d) Nagaland

Alternative Answers:

(1) a, c, d only (2) d, b, c only

(3) b, d, a only 4) a, b, c, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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34) AR foarT anesaT.

(1) HeTaisTe gedTaTd dievdrd IR U9r Thahe J[STET JMER BTIe SATdTd.
(2) 3rAT ATATAT TATST HROT 20T ATT3TH 3.

(3) BXHATET EMER ATardarg ®Hdl Id ATel.

(4) AT ST T S¥IE S ATUITHTERH [hdlel JeT Hig 2Tehal.

Identify the incorrect statement.

(1) Questions to be raised in a censure motion are printed in pale pink.

(2) Reasons are required for half an hour's discussion.

(3) The point of order cannot be argued.

(4) No - Day - Yet Named motion may be moved by a Member of Parliament at any time

during the session.

35) Wole U [aaR =
(37) S HET S¥Aad eel AiedT Id ATel AT Biehad (93 IPE 3™ =oTdTd.
@ TR g Sl oA HE=EET el ST,

T 3N
(1) Teh 37 S_IER 38 (2) F7h ¥ TR I8
(3) SFel SRR 3T (4) TET THIT 3R

Consider the following statements.

(a) An issue which cannot be raised anywhere in the Parliament is called special mention
in the Lok Sabha.

(b) Special mention should be made in writing to the Secretary General.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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36) Wole UM HaRTdT =T,

(31) XIS A THNEI HAISoal B9 e HHTel A6 U3 2Tehal.
@) I SAER JaeH gdaod ST,
CRERSIERCRE LI

T 39N
(1) Fh AT § R 38 (2) F7h ¥ T & SRI&R A8
(3) 7h 3 F & RIS ARd (4) TAAYHRT I T

Consider the following statements.
(a) A resolution moved by a Member of Parliament in the House may be withdrawn by the
Member at any time.

(b) A vote shall be taken on all resolutions.
(c) All motions are resolutions.

Alternative Answers:

(1) Only a and b are correct

(3) Only a and c are correct

(2) Only b and ¢ are correct
(4) All of the above are correct

37)  ART STTSRAT SfoadT.

IEERUI HAH

CIRREE R (i) 102

ORERIEIEIER] (i) 98

(@) ST AU ey (iii) 99

(€) AT AT TR Hoig (iv) 103
CORNC)I N CORNC)

1 i iii iv ii

(2) ii iii i iv

3) iv  iii ii i

4 i ii iii iv

Match the correct pairs.

Description Article

(a) Secretariat of Parliament (i) 102

(b) Oath of members (ii) 98

(c) Criteria for disqualification of members (iii) 99

(d) Decision on question of

disqualification of members (iv) 103

@ @® © @

1 i i iv il
@) i il i iv
3) iv il i i
@ i i i v

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.
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38) NAURd [URGTT SO STedgoT THiared A qar e,

(37) STCRLET U [SOR™INIE!T 97g HIROT A BT,

@) ACIRITAT T heh HAT [GIRe STard

@) Taedaes, 3T ST IEr=AT HHGST Fa4l e =T U9 e ST,

T I

(1) Teh 3, F SRR (2) & A T F RIS

(3) ®Th &, & SRIER 4) I R

Choose the correct option for the short-suggested questions asked in Parliament.

(a) A good reason has to be given for asking short notice questions.

(b) Short notice questions are asked only to Ministers

(c) Short notice questions are asked on Bills, Resolutions and business of the House.
Alternative Answers:

(1) Only a and b are correct (2) Only a and c are correct

(3) Only b, c are correct (4) All are correct

39) Wold ool [y R=RIT & snfer ang faus/A Faer
(37) ISTISHATS HAH 86 & IFTATHT TUSHT hohedT [T THHTIOT Faford 3Tz,
@) AEYATAT (2 SITETYOTaRIes SRz S1d Hded I &IV IR ATl TATads
3.
T 3N

(1) &h F T Q) & F I
(3) =T AT (4) ST ST

(a) Article 86 of the Constitution deals with special addresses by the President to Parliament.
(b) It is essential for the Government to pass a vote of thanks in Parliament on the
President's special address.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both correct (4) Both incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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40) T U et WS [RosT faam faamra =1 snfer ahe Sy Maer.
(37) HIOTE! TERTAT 7 ZaT J&T IURAd FRUGRITS! TG U TASHT & Ueh IS
AW 3T,
@) 3T TeR & Ahed-T T¥Ig Uishad THNGE ool AMa-aqel Jeud e,
T 3N
(1) %eh 37 INg (2) h ¥ TRT
(3) ST A (4) 2T AT

Consider the statements given below regarding Zero Hour and select the correct statement/s.

(a) It is a formal way available to members to raise an issue without any prior notice.

(b) The concept of Zero Hour is an innovative method incorporated in the parliamentary
process.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both correct (4) Both incorrect

41) WS U AR @
(31) AT [TdTe ATSTaTaTsl ATd feaai=l qEav=T A&l SoTd.
@) RPN [T4as S9ad AAd 83 21hd ARl

() TSI [TEIHIGT AR ROT Sh 2.

T 39N
(1) Fh ¥ T § SRR 38 (2) F7h ¥ T & SRI&T e
(3) Fth T 9 & ST IR (4) TSI I TR

Consider the following statements.

(a) Seven days' advance notice is required for tabling a general bill.

(b) A private bill cannot be passed in Parliament.

(c) Public Bill expresses the policy of the Government.

Alternative Answers:

(1) Only a and b are correct (2) Only b and c are correct

(3) Only a and c are correct (4) All of the above are correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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42) WO Kool faae e = o avg a4 M.
(37) FEABRT [P JAaeUdr 3RTehes anfde Ia=amde ifas IRfad w=or g fovmie
AT AT JEE 33T 3L
@) 24 T FAEIATIRT 17 ShTSAT MIF0TETST 92 7 ITTEAT FE=omareT 7.
T I
(1) ®h 37 I (2) h ¥ TG
(3) <€ A1 (4) <IET 3

Consider the statements given below and select the correct statement/s.

(@) The main objective of the Departmental Standing Committee is to ensure greater
financial accountability of the Executive Department to Parliament.

(b) Out of the 24 Standing Committees 17 are under the control of the Lok Sabha and 7
are under the control of the Rajya Sabha.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both correct (4) Both incorrect

43) WS Kool faae femrd = fer a4 M.

(37) TR JHTHT AT Teh el hATaR =l &id g Aaa ard e,
@) P A T Beh 94T 7 hovedT JedTas Ada grd.

El'é?lﬁbf‘ﬁli':
(1) &h F T ) & F I
(3) Sl Ay (4) =T T

Consider the statements given below and select the correct statement/s.

(@) In a kangaroo termination notice only the substantive clause is discussed but not voted
on.

(b) A guillotine termination notice shall be a vote only on the matter not discussed.
Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both correct (4) Both incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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44) IT U IO s
(37) ARIThd TR IReh T [a=Rdr Id A&
@) 9 USRI AR dRiThd T ®UdR STdRIThd T & 2hdld

(@) Toh A9 IS 4 JAdRIThd T [a=rs Tehdr.

T 39Y
(1) 31, & (2) &, b
(3) A, & (4) YR T

Identify the correct statement/statements.

(a) No supplementary question can be asked on a starred question.

(b) The Presiding Officer of Parliament may convert a starred question into an unstarred
question.

(c) A Member of Parliament may ask 4 unstarred questions.

Alternative Answers:

(1) a, b (2) b, c

3) a, (4) All of the above

45)  WIHIAUHT HIOTAT ATAHRAT TsTTH T2 ATURR FOTaT IT3?
(37) IS JATONETON HHTH HI0ITET 3T
@) TSI ST TR H1aS HRoATET ATTRR BIBAHST 01
@) T IS TRAT HaT FHT0T HREET ATIRR ShTIST TS HR0T.
T 39N
(1) 3T, & Q) A, T
(3) 9, & (4) TSTHT T

Which of the following powers can be called special powers of Rajya Sabha?

(a) Resolution to End National Emergency

(b) Empowering the Lok Sabha to make laws on subjects in the Rajya Sabha.
(c) Empowering the Lok Sabha to create new All India Services.

Alternative Answers:

(1) a, c 2) a, b

(3) b, c (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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46) WISIHUSRT HIOTAT AT HHHT HIFHSHTAT HIHAGISTER [FE=0T STUITET AT 3Med?
(37) T T @ TATR
(<) Hel (e) AUl ol
T I
(1) 1 smor g 2) T 3T &%
(3) T, 9, F (4) SIS FF
Which of the following are instruments of Parliament to control the working of the Cabinet?
(a) Attention notice (b) Zero hour
(c) Point of order (d) Short discussion
Alternative Answers:
(1) aand b (2) b and ¢
(3) a, b, c (4) All of the above

47) WHISUH! I [FarT stiesaEr.
(1) GRS HUATd YATGTHS JST G GIROT Alg 2Tehald.
(2) FHIEHEAT HYTT YT FITST ARTONT IHT 1 SUIT HAT HLvaTd ITaT.
(3) HUTT AT 3T AFTON AT 3T FThdl.
(4) TH I [TUT T 3.
Identify the correct statement from the following.
(1) Members may propose alternative policies in a policy cut motion.
(2) Economy cut motions means that the demand amount should be reduced by Rs.1.
(3) A cut motions can be in relation to several demands.
(4) All the above statements are correct.

48) WIS [Ty I [agm/faae e
(3 I 9 Fdgs JHd SRograre! gedd ey utshar |itasT .
@) 9 TSI THAT ATST SiT AU ST ATdoo! 3T [T9ae g o= [Tdos g
Ao whar
@) ISGAHT 9 [T99h Feh 14 S99 IGA 3 7.

T 3N
(1) h 3T, & Q) FHATT
G)FHITTH (4) TRISTIHT I

Identify the correct statement/statements from the following statements.

(a) The Constitution lays down a special procedure for passing a Money Bill by Parliament.
(b) When a Money Bill goes to the President for assent, the Speaker certifies that the Bill
is a Money Bill.

(c) The Rajya Sabha can reserve the Money Bill for 14 days only.

Alternative Answers:

(1) a, c only (2) a and b only

(3) Only b and c (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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49) WSS [T FER =1 3T I 99 e
(37) RATAT A MU T WRaRGT MABGAT Aede, $oil 90 M0 IRERT SRS
ST =T TSI B
@) 1952 BT ThRAH T BT AT HRoITd ATHT.
qIET 39
(1) %th 3 R (2) Fh F RS
(3) IR TR (4) R THE

Consider the following statements and choose the correct option.

(a) Consolidated funds of India include revenue received by the government, treasury bills
and loans raised by the government.

(b) The Contingency Fund Act was passed in 1952

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both are incorrect

50) RAFEnT g d94 @eie Roe! [y e=mR @ anfer e a4 Faer.
3N ST Fdeie MIRT @91 986 HROTRT Gowdl [GanT [TUeed gaac! S,
@ =T TguemEr [AFEhT SREET STeREd IReRGT dred FdgT 99 Sedr ad
Tar.

T 39Y
(1) %h 37 IT ) & T I
(3) aI=r AT (4) =T TN

Consider the statements given below regarding the Appropriation Bill and select the correct
statement/s.

(a) An amendment proposed in the Appropriation Bill to change the burdened expenditure
on consolidated funds.

(b) The Government cannot withdraw money from the consolidated funds unless an
Appropriation Bill is passed into law.

Alternative Answers:

(1) Only a is correct (2) Only b is correct

(3) Both correct (4) Both incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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